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Question Number : 1 Question Id : 3354726631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Bandhavgarhislocatedin ___________ district of Madhya Pradesh and was declared as National Park in the
year ___________ | ST e ECE] Fafvad H T e & w0 o T o e
am

Options :

1. ® Sagar, 1967 | 9TK, 1967
2. % Shahdol, 1969 | T5E, 1969
3. ¢ Umaria, 1968 | IAAT, 1968
® Ujjain, 1966 | 3=, 1966

-

Question Number : 2 Question Id : 3354726632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which Indian satellite has performed several diverse tasks? | Tofe Wd 19 IUUE o 3/ TdTerer @11 &1 Ag T &ar 27

Options :

. ¥ INSAT | s8¢

® Aryabhata | smig

# Rohini | Tl

% Bhaskara-1I | ¥e@-11

!\:ll—l

w

v

Question Number : 3 Question Id : 3354726633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which Rajput clan once ruled over Bundelkhand? | o TR @9 7 §SAES & ST UF I AT T a7

Options :

1. ¥ Rathors | T2

® Gaharwars | Td
. # Chauhans | =g
. ¥ Chandelas | @

W

Question Number : 4 Question Id : 3354726634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

World Day of Social Justice’ is celebrated on

of every year. | "GN a1 &7 o fEae 5¢ A
TR AT 19T 21

Options :

1. ¢ 20th February | 20 wad
2. % 19th February | 19 ®ad
# 18th February | 18 wead
# 21st February | 21 ®al

w

-

Question Number : 5 Question Id : 3354726635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the name of the payment app launched by Google India after demonetization? | ﬁgawramam
SIS ERT AT T T UHE U0 &7 710 F47 57

Options :
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® Bhim | ¥W
¥ Tez | Gl

® Rupay | &1
® Dhan | &=

w e

-

Question Number : 6 Question Id : 3354726636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Who were the Charmpions in Indian Super League Football 20167 | E12a Ui &1 Feala 2016 # Huea 19 7

Options :
¥ Atletico de Kolkata | Uealied! 1 @ iadal

¥ Kerala Blasters | 9% sdeed
% Delhi Dynamos | el S2=dE
® Mumbai City | gas &l

—

M

L

Question Number : 7 Question Id : 3354726637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Right to Information Act was passed in India in the vear_______. | AR o T T STt arataay
‘Jﬂ%{ e em

Options :

1. ¥ 2011
2. ® 2009
3. ¥ 2007
4. ¥ 2005

J

Question Number : 8 Question Id : 3354726638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
which of the following is the driest place in India? | FEEET & @19 97 97T § Had J9F G 57

Options :
1. ¥ Raichur | TRER

2. ® Anantpur | HT

' Gulbarga | Twer

4. ¢ Jaisalmer | AGART

Question Number : 9 Question Id : 3354726639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Who is recently appointed as the Director General of National Investigating Agency (NIA)? | g1 &1 H T9 T 1=
AT (. 3178, T ( 3 HpTivcard o &0 § ol Tog T mam 27

Options :
. % Ashok Lavasa | 19 @amer

1
2. % Rajiv Meharishi | TSI AgH
3. v Y.C. Modi | @ d g

4 % Sunil Arora | gHId aRIST

Question Number : 10 Question Id : 3354726640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

which one of the following films did Satyajit Ray make for children? | TAgafeiET & & frg e @1 dqatag o =
et o Toly & 17

Options :

1. ® pather Panchali | TR U=
2. ¥ Sonar Kella | 991 foraT

3. % Aparajitho | smRTRET

4. ¥ Ashani Sanket | srerie doa

Question Number : 11 Question Id : 3354726641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The immortal poet Kalidasa belonged to the town of ________ .| AT e W __ wee O garad 9
Options :

1. ¢ Ujjain | 3=

® Bhojpur | ¥NIT

# Hoshangabad | gemmeme

® Indore | 32X

V)

Question Number : 12 Question Id : 3354726642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The _________ state government started Pashudhan Bima Yojana in July 2016, | e é 2016 ﬁ _______ T JEERT
TS S AT AT S
Options :

1. ¥ Madhya Pradesh | Fed 0
#® Uttar Pradesh | 39T 024

¥ Tamil Nadu | IRwTg
¥ Haryana | gieamm

M

L

N cY

Question Number : 13 Question Id : 3354726643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Madhavgarh Fort is in

Options :
1. ¥ Satna | 9a-T

2. ¥ Seoni | -t
® Katni | ®wedl
4. % Dhar | ¥

L

Question Number : 14 Question Id : 3354726644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The main cormmercial center of Madhvya Pradesh is situated in

Teer &1

Options :

1. ¥ Indore | 3210

2. ® Ujjain | I

3. ¥ Jabalpur | FEe<
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4. ® Gwalior | T@TAT

Question Number : 15 Question Id : 3354726645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which is the nearest airport to Mandu? | Ag & F@edd a1 5T &1 a1 57
Options :

1. ® Nagpur [ 9T

# Bhopal | e

. ¥ Indore | EEK

® Gwalior | T

r

L

e

Question Number : 16 Question Id : 3354726646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Koteshwar Mahadeva termple in Balaghat district is situated at
LA

Options :
1. ¥ Ramtola | TTH TIAT

2. ¥ Kashitola, Lanji Tehsil [ #siai#T, @ agdia
3. ¥ Laltola | &T& TleAT

4. ® Gwaltola | T T

Question Number : 17 Question Id : 3354726647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is common between Damodar river in Chotanagpur and Narmada in Vindhya and Satpura? | Frar o et
Y FaYST 3% gHEIET H&ﬁﬁawﬁaﬁamw%

Options :

1. ®¥ Both have huge catchments | g1 THa Fa0gT &

2. % Both have common source | ST & OTF 3TH &/I1T &

3. ¥ Both are used only for hydel projects | T &1 AT wT qiear-ret & @7 Ju=im oy 91d &
4. ¥ Both are flowing through rift valleys | 91 S Gl & ATeqA 9 95 1 &

Question Number : 18 Question Id : 3354726648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
When was Madhya Pradesh given the status of a full-fledged state? | A& U9 FT T Q0T T @1 g1 Pl [HeAT 217

Options :

1. ® 1st November 1945 | 1 qa¥eX 1945

2. ¥ 1st November 1956 | 1 dar¥ 1956

3. % 11th May 1957 | 11 da%e¥ 1957

4. ¥ 31st Novernber 1956 | 31 Jdva¥ 1956

Question Number : 19 Question Id : 3354726649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which Indian bowling legend retired in 20177 | 2017 # Torg T v = Hgam = g foar?

Options :
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1. ®¥ Harbhajan Singh | 57¥+ &%
2. % Piyush Chawla | TRI¥ Zmaer
' Ashish Nehra | smafig 9gT

® Ishant Sharma | gera amf

L

-

Question Number : 20 Question Id : 3354726650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The Indian Supreme Court banned fireworks in which state of India for Diwali 20177 | YR 12 dig ~T2TeAT =
T 2017 %%qm%ﬁmmﬁ‘ T STt T WidaTad & Tadr o7

Options :
1. ¢ Delhi | et

® Assam | SR

M

#® Uttar Pradesh | SOT U
#® Haryana | giegmm

RS

General Maths and General Aptitude

Section Id : 335472194

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472194
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average of 8 numbers is 99. The difference between the largest two numbers is 18. The average of the
remaining & numbers is 87. The largest among the §is: | 8 &%l &7 69T 99 31 Gad a=1 F gl & i &7 3[¢
18 31 4 6 el &7 oied 57 31 8 gEansd # gad 9ot &

Options :
1. % 190

2 % 185
® 1286
v 144

L

e

Question Number : 22 Question Id : 3354726652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Aman has 3 sisters and S brothers. If his sister Shantha has & sisters and B brothers, then the product AE is: |

A 3 a5 ST 5 HIE 81 ATE TG J5 ATaT HT A F5 W E WIE &, F1 kA AR B
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Options :
1. ¥ 10
. % 15
® 3
4.¥ 12

M2

w

Question Number : 23 Question Id : 3354726653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The HCF of two numbers 4 and E is 15. Which of the following can possibly be the LCM? | Sf @meil 4 T E &7
oW SRad @ 15 71 fo g § & @19 97 fgaq aevad e 57 9T 57

Options :
1. % 80
® 160
#® 140
V120

ASERT I

Question Number : 24 Question Id : 3354726654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the possible base area of a cuboid whose volume is 6x% — 18x ? / Udh 9187 AT

IO 6x% — 18x & 3THT THTGT 3TUR &= &7 &7 Ihal o7

Options :

- x*—3x
1. &

 3x— x?
2. %

6x°

3_ bl

 bx— 6
4 %

Question Number : 25 Question Id : 3354726655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

~35
s

-7

]
')

Options :
1. ¥4

%1

M

L

® 16

v
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Question Number : 26 Question Id : 3354726656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

2x2+Txy+6yE =7

Options :

1. ¥ (2uy+3y) +2v)
2. ® (3x+2y) (x+2y)
® (2xy+3y) (2x+y)
4. % (3x+2v) (2x+v)

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

L

Question Number : 27 Question Id : 3354726657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Find the average. | 3f&q Hea@Tom

72, 75, 25, 44, 14
Options :
1. ¥ 44
2 ¥ 45
v 46
® 47

L

s

Question Number : 28 Question Id : 3354726658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In triangle CAT, ZACT = ZATC and £CAT = 36°. If TR bisects <ATC, then ~CRT =
/ TBAHIOT CAT #, LZACT = ~ATC 3R ~CAT = 36° I ~ATC # TR gfasiiaa m—cﬁ

&, dr <CRT = |

Options :
36°
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90¢°

Question Number : 29 Question Id : 3354726659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Two bananas and a guava cost Rs. 7. Three bananas and two guavas cost Rs. 12, What is the cost of one
guava? | g1 el S U STHE &1 §rd 7 209 8l a1 dell S of STeg, &1 §od 12 #0308 UF T0eg, &1 Hod 947 o7

Options :

1. ¥Rs. 227
2. ¥ Rs 3|3
3. ¥ Rs. 5|5
4 ¥ Rs 7|7

Question Number : 30 Question Id : 3354726660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Each one of the 29 students in a class has one dog or one cat or both a dog and a cat as pet. Twenty students

have a dog and 26 students have a cat. How rmany students have both a dog and a cat? | 39 Eﬁ'wﬁﬁi’iﬂ
ﬁmﬁfmﬂw@?ﬁmwﬁﬁﬁm@msﬁrﬁﬁﬁaﬁ%mm%ﬁwﬁ%ﬁ Eﬁﬂﬁar%'a‘faiww@—maﬁrzs ERUERIED
T e Tawet 71 Tra fEentsat & o g oY et gt 87

Options :
1. % 12
2. %10
3.V/7

4 8 g5

Question Number : 31 Question Id : 3354726661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the speed of the train 400 m lor;ﬁ;{vhich.passes through a 200 m tunnel in 40 seconds? | 400 HET del
U ¢S] @ TTd /T & AT 40 darg § 200 Eﬁwaﬁmaﬂ‘cﬁ%

Options :

1. ® 36 km/hr [ 36 Tl geT
2. ¥ 38 km/hr [ 38 AT eT
3. ¥ 44 kmjhr | 44 AT geT
4. ¥ 54 kmjhr | 54 Tl geT

Question Number : 32 Question Id : 3354726662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If the length of a box is increased by 50%, breadth is increased by 10% and height is decreased by 60%, then
by what % will the volurne increase or decrease? | Iie Uw [2ed H1 aTe S0% S TGT ol AW 5, Fals L0% T TG4 &
AT 60% U ST AMGT 5, T THTA eha= Wi 9 & 70T 91 "7

Options :
1. % 0%

2. ¥ 34% decrease | 34% Wed
3. ¥ 34%increase | 34% Ty
4. ¥ 20% decrease | 20% TTd
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Question Number : 33 Question Id : 3354726663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A boat covers a distance from A to B downstream and E to & upstream in 4 hours. If the speed of the stream is

2 km/hr and the speed of boat in still water is 4 km/hr, then the distance between A and B is: | U AT A §E &

%ﬂﬁ YT [T H UG B & A oW o foeg 4 O H T #ed 1 81 Afe; oRT &1 Mid 2 Tt eer § oa 2 o=t ® =7er & 71 4
JERTE, T4 ST B @ il o gal &

Options :

1. ¥ 8km | 8 TpdT
2. ® 9km | 9 Tt
. % 4km | 4 Tt
¥ E8km | 6 Tordt

S8

ML

Question Number : 34 Question Id : 3354726664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The sum of the present ages of Ajay, Vijay and Sanjay is 75 years. Five years ago, the respective ratio of their

ages was 3:4:5. What is the present age of Sanjay? | &4, o= o &= &l S AT T &1 FEA 75 a9 21 0= oy
éaﬁmm@ﬁHWSASm%ﬂfﬁaﬁmmﬁmﬁ@ R

Options :

1. ® 20 years | 20 a§
2 % 25 years | 25 a9
¥ 30 years | 30
4. ® 35 years | 35§

w

Question Number : 35 Question Id : 3354726665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A two-digit nurrber whose surr of digits is 9, reverses when €2 is added to that number. The number is: | Eﬁ'
37T T TAeer T @ ANTHA 9 §, Wﬁgﬁﬁas‘raﬁ%mwéwﬁ 63 FISTAET 5] 9% GEaT 5

Options :

1. ¥ 18

® 27

[

L

oh

&

e

P

o
o

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 36 Question Id : 3354726666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If 4x2—40x + 10 = 0, then the value of x2 — 10x+ 5 equals to ~/ afE 4x2—40x + 10
=0, a@r x2— 10x+ 5 &7 AT & S Bl

Options :

1.¥ 25
%15

w
%
(o]
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Question Number : 37 Question Id : 3354726667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
IfV2 =14, then the value of V50 - V18is: / A& V2 =14, dr +/50-/18 &T AT :

Options :
1. %2

P
¥
o0

(WA}

[9A ]

w

4

Question Number : 38 Question Id : 3354726668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What should I add with 0.1 x 3000 to get an amount equal to Rs. 3007 | 300 U @ aXTer {18 0T @ @ Tl g3t
0.1 x 3000 H F4T FISAT AM5E7?

Options :

1. ¥ Rs. 3 /3%
¥pRs oo
® Rs. 1/ 1@wEm
4 ¥ Rs 0 05qar

[

w

Question Number : 39 Question Id : 3354726669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The median of 5, 8, 25, 22, 34, 181is
Options :

1. ¥ 20

| 5,8,2522 34 18 ®THEIET ______ |

2 % 20
® 15
4 ® 34

-[‘I.J

Question Number : 40 Question Id : 3354726670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Pooja is 13 years younger than Bella. If the surn of their ages is 25, then how old is Bella? | G=, e & 13 = giet
2 E%i’e:lfﬁ AT T AMEA 25 B, TT AT T AT F24T 57

Options :

® 1Syears | 158
® 20 years | 20 79
¥ 19vears | 19T9
® 12years | 1279

=)

W

-

General Hindi
Section Id : 335472195

Cantinm Nmrmmhawn . 2
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Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472195
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
AT =2 @ T E -
Options :

1. % 4

M2
(S}

(U} ]

n

-

M2

Question Number : 42 Question Id : 3354726672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Options :
4 % Iug o

Question Number : 43 Question Id : 3354726673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tt # se 81 & -
Options :

1. %@

4 ¢ 3

Question Number : 44 Question Id : 3354726674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
SIE e § -
Options :

1. ¢ gzar

2. % Ugd
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4 ® ﬁaﬁ‘cﬁ ;

Question Number : 45 Question Id : 3354726675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

M
S

0
e

Question Number : 46 Question Id : 3354726676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
* FTATE T O g H & W AT 57

Options :
& e

M2

w

-

- 3 a_ E

Question Number : 47 Question Id : 3354726677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Aliged ToT & Trehg, & (o1 99 H & T A7 UF o3 57
Options :

Mo

LA}

-

Question Number : 48 Question Id : 3354726678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Frmer @9t Teg PR A A @m areg?
Options :

VY Ed

[a

® a+we
4 ¥ 4T

w

Question Number : 49 Question Id : 3354726679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tom F e eg e g F AT g?
Options :
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® 7

L

Question Number : 50 Question Id : 3354726680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

I & T geg Mg H A B 7
Options :
2. ¥ agE

w

o

Question Number : 51 Question Id : 3354726681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
T Jeg H R @9 9T 99 57

Options :
3 ® fgran

Question Number : 52 Question Id : 3354726682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

‘FgC AT Trrat w1 apf g A F wT A a?
Options :

3. ¢ AT S °Td gl

4 ¥ e gHg FAT

Question Number : 53 Question Id : 3354726683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
UEd P g T H G B AT
Options :

Question Number : 54 Question Id : 3354726684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T T T AT AT 50 | B AT 57

Ontions :
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—

W

-

Question Number : 55 Question Id : 3354726685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

TTE & 5T & &1 & 51 @761 UTE o1
H I AT SEER 3 TRl dwed -7

Options :
. ¥ gifdAE sewR

Ny

Question Number : 56 Question Id : 3354726686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

et o Ty e # e geg F 90 9t T g gee Nl ST # O @Y -
g Ty femmd qar g s oa #________ |

Options :

® T

[

94

e

Question Number : 57 Question Id : 3354726687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT Seg H B @ AT E -
Options :

R

® i e

%]

L

v

Question Number : 58 Question Id : 3354726688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT O e ARl B -
Options :

]

4. ¢ yaEniT

Question Number : 59 Question Id : 3354726689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Sinole T .ine Onectinn NMntinn * Na OIntian Orientation * Vertical
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Correct: 1 Wrong: 0

FraferiaT geraet § @19 a7 e Tt @ @ e 3 & 9T &1 0w aear s -
Options :

3. % g d e

4 ® g T

Question Number : 60 Question Id : 3354726690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HIAT-TA T FATE-T00E a5

Options :
4 ® iqr o uid ow
Fural E‘:('_‘OI’IOI“[']‘j.ir and Panchayati Raj

Section Id : 335472196
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472196
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The power of supervision of state government employees on deputation to Zilla Panchayats rests with _____ o
T TEFIE o FHATCAT oF e &1 et | W AT o T 21
Options :

1. ¥ District Collector | Fameftar

2. ¥ State Government Departments | T3 GCa & e dmT
3. % Zilla Panchayat CEO | ST m=mad & |ige

4. ¥ Janpad Panchayat | S-Ug U=

Question Number : 62 Question Id : 3354726692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Who is appointed as Chairperson of District Planning Committee in Madhva Pradesh? | Bea naar # F@T @=r
i & sregey & &0 o T T mam 87

Options :

1. #¥ Chairman of District Panchayat | T tama @7 arezy
. ¥ A Minister | O% 7T

3. ® Divisional Commissioner | fEfeaa @R

4. ® District Collector | T ®eiget

[

Question Number : 63 Question Id : 3354726693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The objective of Krishi Shramik Samajik Suraksha Yojana was to provide_______ to agricultural workers. | §Y
S Tirer T AT T 59T P ATHPI B _______ ST AT 4

Options :

1. ® land | 4@

2. ¥ employment | TFFTTE
3. ® health care | FATERE SEHTH
4. ¥ life insurance protection | Sita- sHT Gam

Question Number : 64 Question Id : 3354726694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Wwho among the following is the Union Minister for Agriculture & Farmers' Welfare? | Tgfciiad # & & dra g
U TR T AT 77

Options :

1. ¥ Radha Mohan Singh | ¥TeT Alg= &%

2. ® Ram Vilas Paswan | TH fS@e urea

3. # Ashok Gajapathi Raju | &faite Temid T
4. ® Giriraj Singh | Tifr g

Question Number : 65 Question Id : 3354726695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The regulator of Micro Finance in Indiais _______.
Options :

1. ® Finance Ministry | 29 AaT@w

2. ¥ Reserve Bank of India | Trad a& e sigam

3. ¥ State Bank of India | ¥ &% ATE si&ar

4. ¥ None of the above | Jutigd # § B A5

Question Number : 66 Question Id : 3354726696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

After the 73rd Amendment, Panchayat Elections were held for the first time in Madhya Pradeshin _______ A
73 Hared & aTg, Hedud T H URA AW _______ # U AT B

Options :

1. ¥ 2000

2. ¥ 1994

3. ® 1972
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4 ® 1989

Question Number : 67 Question Id : 3354726697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Howr %qany %bjects have been given in the 11th Schedule of the Constitution? | &ferer= @ 1 1¢f arge ! o forad
Tomer far Ty &

Options :
1. # 11 subjects | 11 T&duz

2. ¥ 29 subjects | 29 fBug
3. ¥ 30 subjects | 30 Tz
4. ® 40 subjects | 40 Tz

Question Number : 68 Question Id : 3354726698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

%i%l %g the National agency that encourages bee-keeping in India? | YRT ¥ TyHFE! ®T dg1a] & aT6! T8 1 TE!

Options :

1. ® Department of Apiculture | HYAFE! TTe W

2. % National Bee Research Institute | T AyATE! A7 G
. ¥ National Bee Board | T8 19 AyATE! 915

% Honey Developrment Corporation | 9gg e s

L

-

Question Number : 69 Question Id : 3354726699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In India, the value of output from livestock sector was about _____ percentage of the value of the output from
total agriculture and allied sector in 2015-16. | WRA #, TIeH &7 & Jouie &1 0pd 2015-16 H §d F14 oK dag 57 &

FUTEH & T _____ RIGEIG R
Options :
1. ¥ 18
2. % 20

3. v 29

-t

4 ¥ 38

Question Number : 70 Question Id : 3354726700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following bodies conducts elections to Panchayats in states? | Fgiaaa # & @19 |1 e t=at §
Tl | & ZATd AT HeaT 87

Options :

1. ¥ Election Comrnission of India | WRa @1 Fatee smanT

2. ¥ Respective State’s Election Commission | @aied T4 & Toaiz T
3. # Ministry of Panchayati Raj in the state | T § U= | T BI04

4. ® District Collector of the respective districts | HaTed Ma! o MAT Fodet

Question Number : 71 Question Id : 3354726701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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What éc;}rpe of bank account can be opened by a Self Help Group? | T5-Hg1dT 90 &R T9d U™ @7 ot @aT @ier =11
RTINS

Options :

1. ¥ Fixed Deposit | @TaTer AT

2. ® Current Account | e @1aT

3. ¢ Savings Account | == @ET

4. ¥ Recurring Deposit Account | STedT ST GaT

Question Number : 72 Question Id : 3354726702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wag%s under MGNREGS are to be paid within ______ days. | AL o T5d HeIgel BT qIa ______ Tet o ffae T
EIGH

Options :
1. % 15

2 ¥ 10
4 ® 1

w

Question Number : 73 Question Id : 3354726703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Whi% of the following is NOT considered as a village industry? | FaieiEa § & o o THIT 20T & &0 F F51 AT
AT &7

Options :
1. ® Coir | AT 2T
2. ® Bee keeping | We[HTE! UTe

3. % Palmgur | TR
4. ¢ Fertilizers | Jeiw

Question Number : 74 Question Id : 3354726704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Wwhich of the following is a programme launched in 2016-17 with the objective of enhancig%opportunities for
B

entrepreneurship among rural youth? | FafeEd # § #19 &1 #iwr 2016-17 o T Farait &
B AGI F Jod § & AT T 57

Options :

1. ®¥ Rural Entrepreneurship Programme | &0 Ueei=aeia

2. ® Integrated Rural Developrment Programme | Ee1ieE &a Sadude T

3. ¥ Training of Rural Youth for Self Employment | $T9T 3T &6 37 B deth TrATaHe

4. ¥ Start Up Village Entrepreneurship Programme | €218 0 fdere Ueei=arei&a mum

Question Number : 75 Question Id : 3354726705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Provision of Urban Amenities to Rural Areas (PURA) s a strate%;nvisa by which of the following

ad]
ersonalities? | HTaw 3TE e THINE & & T (U §=37 & msﬁg%‘maﬂ‘mmm (TR e ToiTa & =i
T st 2 @ Ry T SR o T 87

Options :
1. ¥ Dr M.S.Swaminathan | 2T UH.UE. e
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2. ® Baba Amte | 9T€T HTHS
3. ¥ Dr. & P ] Abdul Kalam | ST UM sfega Fam
4 % Anna Hazare | ST g9

Question Number : 76 Question Id : 3354726706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Elections to Grarm Panchayat is done through

Options :

1. ® Open ballot | ol deie

2. ® Voice vote | g AT

3. ® Raising hands | T 3a1a¢
4 ¢ Secret ballot | THT e

Question Number : 77 Question Id : 3354726707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Under Swarna Jayanthi Gram Swarozgar Yojana, a beneficiary can become member of how many Self Help

Groups? | Favi A<d [ UTH e TR AT & Siaid, ATl fora €< Sg1adT gl &7 956 o aadl 57
Options :
1.¢¥1
-~
3. %3
4 % 4

Question Number : 78 Question Id : 3354726708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which agency is entrusted with the implementation of MGNREGS at state level in Madhvya Pradesh? | g near #
T T 0T T ToraIT-arae Tored Uiw! 1 |7 T2 57

Options :
1. ® Madhya Pradesh State MNREGA implementation Cormmittee | Hed W Td BT T Tera GiAfd
2. ¥ Madhya Pradesh State Employment Cormrmittee | HEd W& T4 T GiHTT

3. ¥ Madhya Pradesh State Employment Guarantee Council | A& W28 T4 TR Tl Tiue,
4. ¥ Madhya Pradesh State Employment Exchange | 723 UG T4 TSR &g

Question Number : 79 Question Id : 3354726709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which state has first adopted biometric systern under MGNREGS 7 | 9T @& S[@7q T (=4 = Had Ugel aiamicE
ToEeH @ ST

Options :

1. ¥ Madhya Pradesh | Feg 0
2. ® Karnataka | @ic®

3. ¥ Rajasthan | T=eH

4. ¥ Kerala | 3%

Question Number : 80 Question Id : 3354726710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Wwhich of the following is NOT true about the Jan Dhan Yojana scheme of the Government of India? | 9°a

AT G A & AT o Ty # fgimis # & o= aea 751 87

Options :

1. ¢ It was launched on 15th August 2015 by the Indian Prime Minister. | 9% 15 aM%q 2015 &1 YT & TeTHAFT

T I o T am

2. ® Account holders will be %rovided bank accounts with no minimum balance. | @ET &R®! HT o7 =gHaq TS

& TR < & T IUAE FEIT

3. ¥ Each account holder will be issued Rupay cards. | Wedied Qa7 (RE @1 & FT1S AT T A1
4. ® Evyer acc0unt holder will be given accidental insurance cover of Rs. 1 lakh. | Wed® Q4T &RE &1 1 #1E &0

T gHieHAT sl AT e g

Section Id :

Section Number :

Section type :

Mandatory or Optional:

Number of Questions:

Number of Questions to be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:

Question Shuffling Allowed :

Computer Knowledge

335472197
5

Online
Mandatory
20

20

20

Yes

No

1
335472197
Yes

Question Number : 81 Question Id : 3354726711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The

SEITIS FTRH & G T HEST
Options :

1. ¢ Trap doors | TUESH
2. % Trojan horse | 2+ g1

3. ® Logic Bomb | @@ dia
4. ® Virus | aneRg

________ 15 code that recognizes sorme spemal Sequerice of input or is tri ?%Ef&d by Deing run from a certain

RITgd ®aT & o1 Tearsl &

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 82 Question Id : 3354726712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

The computer unit that is used for mathematical operations such as addition, subtraction, multiplication and

division is known as: | I FHIIET G- EET SULDHT A1S, T, O T ST ST 01 2 S @ o fo faar ST

& T et &

Options :

1. ¢ Arithmetic and Logic Unit | seffee ua dtew give

2. ¥ Control Unit | #id =T
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3. ¥ Primary Memory | WIEHC RATCT
4. ¥ Secondary Memory | G@s<l HANT

Question Number : 83 Question Id : 3354726713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

InMS Excel, a _______
separated by a colon. | TATE THdd |, TH
AT & g Uk e ZRT SIe T AT )

Options :
1. ¥ worksheet | g@diT

2. ® value | AF
3. ¥ cell reference | O (HeT
4 ¥ range | 9

is identified 'D}? the cell in the upper—}eft corner and the cell in the 10wer—right COTTIET,
T FU -] P H G oF ST T A-210 B H & axT =igd T

Question Number : 84 Question Id : 3354726714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which one of the following shortcut keys opens a new docurnent? | AT & & ®19 €t 9w &t Ua 727 STl

Options :

7 Crl4N
® Ctrl+5
® Ctrl+C
® Ctrl+F

!\Jr—t

L

Question Number : 85 Question Id : 3354726715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IP stands for: | SmedT &7 qof &7 &:

Options :

1. ® Information Protocol | S®THaH HiEi®Ta
2. ¥ Internet Protocol | Sev-e U@

® Inet Protocol | B4 WiEI®Ta

® Insert Protocol | §6¢ Welhia

RS

Question Number : 86 Question Id : 3354726716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Low level languages are also known as: | @ oae oifder &1 56 A8 & dt =1 <1 &

Options :

1. ¥ Source code | HE ® 5

2 % Middle wares | TfEe o=x

3. ® Assemnbly Language | STHHERT oias
4. ¢ Machine Language | A3 A

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 87 Question Id : 3354726717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : ()
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Which one of the following is an exarmple of ‘Title Case’? | FATTET # & 7 TERA &0 &1 0% IgIE0T 57
Options :
1 ¥ Dear Sir

., dear Sir
kL
3 % Dear sir

4 % dearsir

Question Number : 88 Question Id : 3354726718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A alg%agnumeric cornbination like *D2”" in Excel would mean a: | UHda § “D2" S U SIehT Jgu i T & st

LY

Options :

1. ® wWorkbook address | Thg® Tad
2. ® Worksheet address | g@die Taq
¢ Cell address | 9 I29

. ® File name | W15 &1 A

NN

Question Number : 89 Question Id : 3354726719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct :1 Wrong : 0
___________ dewice 15 used to connect rmultiple nodes to the network, [ T

aﬁfﬁqﬁwaﬁaﬁaﬁaﬂﬁﬁ?%qﬁmqm%

Options :
1. ¥ router | ¥13eT

2. ® repeater | fofter
3. ¥ modem | HIgH
4 ¢ hub | 5@

Question Number : 90 Question Id : 3354726720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The excel file is called a workbook because: | UHHd BISd, UF daregd Feelldl 5, FAE:

Options :
1. ¥ It can contain text and data | THH $HYe & STTT 51 TaFaT 2l
It can be modified | 58 uitaida T =T GaaT 81

®
\;-/ £ can contain many sheets including worksheets and chart sheets [ 308 addie Famand e giga eF® ST gl

4. % One have to work hard to create it | S8 &= & [oq aga uiey L

-
.
o

Question Number : 91 Question Id : 3354726721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Which screen area do you see after you turn on the computer and 1og on to windows? | 30 FHERET 419 F &

TEfE T 8 GITT of1e1 901 U AT T T Ui e 27
Options :

1. % Hard Disk | 57€ f2a@

. % Monitor | HTEx

. ¥ Desktop | 2q&T

® Start Menu | §T1¢ 8

T VN B Y

Question Number : 92 Question Id : 3354726722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The valid format of M5 Word is: | QHIE 98 @7 g BTHS &

Options :

1. % jpeg
® png
¥ doc

r

v

® eye

s

Question Number : 93 Question Id : 3354726723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

When sending an e-mail, the ________ line describes the contents of the message. | 5-Ha ¥od 79, ________
ATEA, T ol T oF Tomg | ST #eET gl

Options :

1. ¥ To | g

® cC | ddt

® Contents | ®ge
Y subject | W

&

L

e

Question Number : 94 Question Id : 3354726724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1024 GE is equivalent to: | 1024 i€l 5qF aXeX 51T -

Options :

1. ¥ ITB
2. % 1GBE
® 1PB
® 1ME

N

-

Question Number : 95 Question Id : 3354726725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the keyboard shortcut (button or buttons to be pressed) for creating a chart in MS Excel 2007 from the
selected cells? | Hede P TS Sed § THTE Uad 2007 T U A1e a=1 & o] e di-d12 aéde (G ST Tl ge- a1
&) T JUENT T 19T 57

Options :
1. ¥ F5

2. ¥ F11

3. ¥ F2
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4 ® F7

Question Number : 96 Question Id : 3354726726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Wher you Connect to this service your cornputer is Corrmunicating with a server at vour Internet Service

Frovider (ISP). What does this refer? | S &0 50 HaT & J2d &, 91 ATHHT FHYALT AR Gede diad Haget (SP) 0T gd

Options :

1. ® Modem | WigH
2. ¢ Internet | getAT
® Intranet | W
® Server | @a¢

w

e

Question Number : 97 Question Id : 3354726727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
PDC stands for: | TETET &7 q0f &7 &

Options :

1. ¥ Past domain Controller | UHT ST @ 1e¢

. ¢ Primary dormain Controller | WEAL EHT H et
® Post digital card | uige e @12

. % Primary domain card | WTEAL ST #18

B

Question Number : 98 Question Id : 3354726728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What happens when yvou select a colurmn and press CTREL, SHIFT and Plus (+) at the same tirme in MS Excel? |
T BT & el T THIH e § T F1eTd &1 odq @ g A CTRL, SHIFT X Plus (+) @1 0% 91 gamd 57

Options :

1. ¥ The task manager window opens | TEw A=K [del Gad! 8l

% All the numeric values of the selected colurmn are added | AT 1AW & GHT TEATCHE AT @1 AT 5T AT 31
¥ A new colurnn is added before the selected colurmn | TIT R 1T & Ugel U 74T B1AH S AT )

® A new worksheet is added to the workbook | U -5 gz, Uw 3 doed § I AT g

r

W

Question Number : 99 Question Id : 3354726729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
which of the following is a storage device? | aleET § & U qei= [Zamgd 19 41 87

Options :

1. ® Pen drive only | &% 9 3ET
2. ¥ Hard disk only | & 312 Eew
3. ¥ CDonly | &g &=t

4. ¢ all of the above | JUTHE 4T

Question Number : 100 Question Id : 3354726730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which of the following term is associated with Internet je-Mail? | 790 # & #1997 948, Tei-¢/5-0d 9§ Gal9d 57

Options :
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1. ® Plotter | gaiet

2. % Slide presentation | TGS WS
3. ¥ Bookmark | @A

4. % Pie chart | U A



